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: all crefficients are real
,

then 2-i is also aroot

f(z) = (z - (+ i))(z = (2- i))(z +3)(a)

= ((z - 2) + 1)(z +3)(a)

= (z - z - 7z + 15)(a)

: b = a
,

C = - za d = 15 a



Scanned with CamScanner

a = 0 . 682 G . C.

((x + x -1(dx = 1 . 75 (G . C)

1bx + X-1dx = 3 . 5

[kx* + yx- x)" = 3 .5

· a = 0 . 682

(Gb" +1b - b) - (- 0 . 3953) = 3 .5

From G. C.
b = 1 . 892 : by a
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f(x) = c(kx - 1) - 5)

D TranslationI unit in positive craxis direction

② Translation 5 units in negative y-axis direction

③ Scaling 2 units parallel to the y-axis.
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10 - 2
*

= 6 24 - 10 = 6

X = 2 X = 4

2 = X14
#
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let y = e
-

- 4

x = ](n(4 +y)
=

: y)
- 4

: f "(x) = [In (4 +x)
,

x)
- 4

Df+: (- 4
,
v)
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fg(x) =5

g(x) = f " (5)

= [In (5 +4)

: X +2 = In 3

X = - 2 + 1n3#



Scanned with CamScanner

=

·



Scanned with CamScanner

-
= - (1- )=



Scanned with CamScanner

y = xe

- Y

= e-xe

(x
=1

= e - e = o (x
= -1

= e' + e =2

Eqt of tangent at (1 , e")

y = e

Eq- of tangent at (1 , -e)

y + e = ze(X+1)

y = 2ex +e
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fan O = Je

0: 79 .
68
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Tx = a(2") Sou= (0a + 63(0a)
= 4096a

4096a = a(2")

k = 13 #

Sy= =

-Dr
=> f= 0 r = - 1

v+ = 0 v = 1

Crej) (rei : sum will be 4f)
Crej :f+0)

Sn:= -(1) = G When is d
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Sy= (a + 3d) = 14

Ga + 3d = 7

a(a+ d)(a+2d)(a + 3d) = 0

so a = 0 a = -d a = - 2d a =
= 3d

(rej)

if a = - d = - 2d+3d = 7

d = 7

if a =
- 2 d => d=

- 7 Cryj) : a < 0

If a = - 3d = d = - =(3 (r) :: as 0

: T
,
= 7 + 10(z) = 63 A
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W + w = ein + e-io

=
losO + ismR + costO) + ism(-0)

= 210sO EIR
A

shown

=
is i tant

k = i
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I
=(z))))
=Fi

- It
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xY

·St
line of symmetry : y=

8 = 0
,

it
,

ST
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Iyax = a)-2sno + 1sin20)

= Ca(sino) (a(-cso + 2 sin20) do

= ja)-4sO+SMESM2 + ISO SIn2O-IsMLO) do

=F. (4SM0 - 6sMOsin20 + 2 s20) do

0. = 0 02 : T1

[. (4SM0 - 6sMOsin20 + 2 s20) do

= 35a
?

: Total area Gia2
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Let O be the temp of water at time -.

= -(0-16)

It do = f-kde

In 10- 16) = - kt + c

0 = 16 + Ae+where A : Ie
"

t= 0
,
0 = 80

:

= A = 64

0= 16 + 64et

t= 30
,

0 = 32

↳ = e

- 301
=> k= 14

: 0 = 16 + 64(4)
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0 = 16 + 54(4)
- "

= 24
%

C



Scanned with CamScanner

-

ST di = fkdt

IT
=

= kt + C

t = 0
,
T = O then c = 0

t= 60 T = /

2 = 60k : k=to

'T = to t

when T = > t = 540mms
*
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(pa : r= (2) + (3) ,

ne eas : v= /=) + x() ,
Xer

Plane top : r. (i) = Planeptm : r. (1) = - &

(I)(i) (3)(i)= x

: ii) ali)
= - +() R(--)
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cosa =Hi
= (E) + + (=) = - ()

=

Q

R,↑
=
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cust => Sinc

losp= Si B:

=

O : los" B = los"to
~ 13 . 0

:

= 24 . 90

0 <kI
If B > o then


